
Name:	
  ________________________	
  	
   Date:	
  _________________________	
  Period:	
  _______	
  

	
  
	
  

1. On	
  the	
  cutout	
  of	
  the	
  Working	
  Class,	
  why	
  are	
  Slim	
  and	
  George	
  at	
  the	
  top?	
  If	
  
Curley	
  is	
  the	
  bosses	
  only	
  son,	
  why	
  isn’t	
  he	
  at	
  the	
  top	
  of	
  the	
  “C	
  Class”?	
  Why	
  is	
  
Lennie	
  at	
  the	
  bottom	
  of	
  the	
  “C	
  class”?	
  
	
  

	
  
	
  
	
  
	
  

2. The	
  names	
  of	
  characters	
  usually	
  match	
  up	
  with	
  the	
  names	
  of	
  their	
  social	
  
class.	
  Why	
  isn’t	
  there	
  a	
  character	
  who’s	
  name	
  begins	
  with	
  an	
  A?	
  

	
  
	
  
	
  

3. What	
  things	
  are	
  needed	
  for	
  independence	
  to	
  occur?	
  
	
  


